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QUESTION 1

What are two capabilities of Network I/O Control? (Choose two.) 

A. it sets network reservations for physical traffic entering vSphere Distributed Switches. 

B. it enforces a network bandwidth limit on vSphere Distributed Switches 

C. it maintains the network runtime state for virtual machines 

D. it performs load-based teaming for workloads on teamed vNICs. 

Correct Answer: BD 

 

QUESTION 2

How does Storage I/O Control protect the service level of critical virtual machines? 

A. Gives preferential I/O resource allocation to critical virtual machines 

B. Allocates I/O resources equally among all virtual machines 

C. Monitors the storage habits of the virtual machines 

D. takes a count of virtual machines on the storage device 

Correct Answer: A 

 

QUESTION 3

What are three valid inventory objects in vcenter server? (three choose ) 

A. Virtual machine 

B. Host profiles 

C. Datacenter 

D. Cluster 

E. DRS 

Correct Answer: BCD 

Explanation: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.vcenterhost.doc%2FGUID-4D4B3DF2-D033- 4782-A030-3C3600DE5A7F.html 

 

QUESTION 4
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What is the default number of logical ports for a standard switch? 

A. 150 

B. 120 

C. 80 

D. 100 

Correct Answer: B 

 

QUESTION 5

Which two methods are supported when installing a Guest Operating System on a virtual machine? (Choose two.) 

A. ISO image 

B. vSAN 

C. Preboot execution environment 

D. NFS Share 

Correct Answer: AC 
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